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Each treasure chest holds a different number of gold coins. Read the
clues. Use the four-step plan to write a number for how many coins each chest holds. Under each number, write the number in expanded form.

Hint: Expanded form shows the place value parts of a number that are added together to make the number. For example, 25 in 
expanded form is 20 + 5.
Enrich
4. This is your treasure chest! Use three of the digits that were not used in the other chests. What is the number? Write it in words.

3. The number of coins in chest C uses a 0 as a placeholder in the tens place. It is the least number you can make using these rules: There is a digit less than 5 and greater than 1 in the hundreds place. The digit in the ones place is not a 0. What is the number?

2. The number of coins in chest B has three digits. It is the greatest number you can make using these rules: The digit 5 is in the tens place. None of the other digits is a
5. None of the digits is a 9. What is the number?

1. The number of coins in chest A has two digits. Each digit is the same as the other. If you add one to this number there will be a 1 in the hundreds place. What is the number?
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